MODEL ODPOWIEDZI — JEZYK ANGIELSKI DLA KLAS DWUJEZYCZNYCH

TASK 1.

ARKUSZ 1

Za kazde poprawne rozwiazanie przyznajemy 1 pkt. Maksimum 6 punktow.
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TASK 2.

Za kazde poprawne rozwiazanie przyznajemy 1 pkt. Maksimum 6 punktow.
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TASK 3.

Za kazde poprawne rozwiazanie przyznajemy 1 pkt. Maksimum 8 punktow.

Przykladowe odpowiedzi:

3.1.

e.g. It creates a lot of threats (e.g. allows spam). It may cause a lot of problems in future

3.2./3.3. | (two features) e.g. censorship; surveillance, suppression of creativity, lack of creativity
34. e.g. (because) he predicts a catastrophe, a disaster, a gloomy/ dark/ pessimistic future
3.5. e.g. an increasing number of technologies/government-sponsored plans to monitor what
people do on the Internet
3.6. e.g. easier transactions on the Internet, more confidence/ trust/ reliability, tracking
crime
3.7./3.8. | (two examples) e.g. it will be easier to collect/ monitor data about what people are
doing on the Internet, what e-mails they receive
TASK 4.

Sprawdza egzaminator zgodnie z kryteriami. Maksimum 20 punktow.




